

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-42673-65bac7b356757 **VERIFY.FTGS.US** Date: January 31, 2024

Seller (Exporter) Healthy Green Life Corporation 13 Corporate Park	Transport Type Vessel	Port of Loading Tucson
Irvine	Destination Country	Destination Port
CA	China	Xingang Tianjin
USA		
	Export Date	Exporting Carrier N/A
onsignee	2024-01-26	IN/A
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 310496041
NNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1456 bales Total: 596.702 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
lfalfa Hay	21.7 mt	United States	
Marks: GAOU6240859 52bales			
ulfalfa Hay	20.92 mt	United States	
Marks: DRYU9575098 52bales			
ılfalfa Hay	20.911 mt	United States	
Marks: TRHU4562176 52bales			
lfalfa Hay	21.519 mt	United States	
Marks: GCXU5322342 52bales			
lfalfa Hay	21.509 mt	United States	
Marks: TCNU2141940 52bales			
lfalfa Hay	21.636 mt	United States	
Marks: TRHU5295963 52bales			
lfalfa Hay	21.754 mt	United States	
Marks: EGHU9328903 52bales			

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-42673-65bac7b356757 **VERIFY.FTGS.US** Date: January 31, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park Irvine CA USA	Transport Type Vessel	Port of Loading Tucson	
	Destination Country China	Destination Port Xingang Tianjin	
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2024-01-26	Exporting Carrier N/A	
	Import Permit Number N/A	Bill of Lading / AWB 310496041	
	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1456 bales Total: 596.702 MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Ifalfa Hay	22.199 mt	United States	
Marks: EMCU8797372 52bales			
Ifalfa Hay	21.392 mt	United States	
Marks: EGHU9724484 52bales			
Ifalfa Hay	20.947 mt	United States	
Marks: EISU8539832 52bales			
lfalfa Hay	21.246 mt	United States	
Marks: EISU9407677 52bales			
lfalfa Hay	21.41 mt	United States	
Marks: TXGU6087562 52bales			
Ifalfa Hay	20.639 mt	United States	
Marks: EMCU1543680 52bales	MANHAMA		
lfalfa Hay	20.929 mt	United States	
farks: TEMU6119287 52bales			

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Transport Type

Port of Loading

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park Irvine CA

greater irvine chamber Destination Irvine Economic Development

Vessel Tucson **Destination Country Destination Port** China Xingang Tianjin

**Export Date Exporting Carrier** 2024-01-26

Import Permit Number Bill of Lading / AWB 310496041

Owner or Agent Forwarding Agent N/A N/A

Buyer (Importer)

HELINGEER COUNTY INNER MONGOLIA, 011500

USA

China

Consignee

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

INNER MONGOLIA BEST HOLSTEINS CO., LTD

HUTONGTU VILLAGE, SHENGLETOWN

Remarks Total: 1456 bales Total: 596.702 MT



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) 21.464 mt **United States** Alfalfa Hay Marks: EMCU8372892 52bales **United States** Alfalfa Hay 20.23 mt Marks: TGBU7123770 52bales Alfalfa Hay 21.464 mt **United States** Marks: TRHU8353908 52bales Alfalfa Hay 21.237 mt **United States** Marks: EMCU1669277 52bales **United States** Alfalfa Hay 21.355 mt Marks: EITU1065735 52bales United States Alfalfa Hav 21.618 mt Marks: EITU1844606 52bales

Name of Authorized Trade Association

Marks: BEAU5196341 52bales

Alfalfa Hay



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

21.382 mt

The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods

**United States** 

- -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. The Applicant is authorized to give the undertakings set out herein



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-42673-65bac7b356757 VERIFY.FTGS.US Date: January 31, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Tucson Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Xingang Tianjin CA USA **Export Date Exporting Carrier** N/A 2024-01-26 Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD Import Permit Number Bill of Lading / AWB HUTONGTU VILLAGE, SHENGLETOWN 310496041 HELINGEER COUNTY INNER MONGOLIA, 011500 Owner or Agent Forwarding Agent China

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1456 bales Total: 596.702 MT

N/A



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	21.673 mt	United States	
Marks: EISU8564537 52bales			
Nfalfa Hay	21.718 mt	United States	
Marks: EMCU8560288 52bales			
Alfalfa Hay	21.754 mt	United States	
Marks: EITU1493482 52bales			
Alfalfa Hay	21.573 mt	United States	
Marks: TLLU4852589 52bales			
Alfalfa Hay	21.509 mt	United States	
Marks: TRHU8761941 52bales			
Alfalfa Hay	20.321 mt	United States	
Marks: FSCU7110760 52bales			
Alfalfa Hay	20.693 mt	United States	
Marks: TGBU6906997 52bales			
======================================			

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin
- applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

## **COMMERCIAL INVOICE**

Invoice No.

BH-202401033

Date:

1/31/24

**Shipper/Exporter:** 

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA BEST HOLSTEINS CO.,LTD

HUTONGTU VILLAGE, SHENGLE TOWN, HELINGEER COUNTY, INNER MONGOLIA

**Vessel:** EVER FOREVER

**Voyage No.:** 0204-020W

Shipping Line: Evergreen

Port of Loading: LOS ANGELES, CA

**ETD:** 1/15/24

**Price Terms:** 

CIF

Contract No.: BH-HGLC2023-2

**Booking No.:** 310496041

Country of Origin: USA

**Discharge:** TianjinXingang, China

**ETA:** 2/17/24

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BEAU5196341	A1490876	Alfalfa Supremi	52	21.382	\$470.00	\$10,049.54
DRYU9575098	A1490898	Alfalfa Supremi	52	20.920	\$470.00	\$9,832.40
EGHU9328903	A1490997	Alfalfa Supremi	52	21.754	\$470.00	\$10,224.38
EGHU9724484	A1490944	Alfalfa Supremi	52	21.392	\$470.00	\$10,054.24
EISU8539832	A1490946	Alfalfa Supremi	52	20.947	\$470.00	\$9,845.09
EISU8564537	A1490871	Alfalfa Supremi	52	21.673	\$470.00	\$10,186.31
EISU9407677	A1490941	Alfalfa Supremi	52	21.246	\$470.00	\$9,985.62
EITU1065735	A1490929	Alfalfa Supremi	52	21.355	\$470.00	\$10,036.85
EITU1493482	A1490806	Alfalfa Supremi	52	21.754	\$470.00	\$10,224.38
EITU1844606	A1490948	Alfalfa Supremi	52	21.618	\$470.00	\$10,160.46
EMCU1543680	A1490804	Alfalfa Supremi	52	20.639	\$470.00	\$9,700.33
EMCU1669277	A1490928	Alfalfa Supremi	52	21.237	\$470.00	\$9,981.39
EMCU8372892	A1490980	Alfalfa Supremi	52	21.464	\$470.00	\$10,088.08
EMCU8560288	A1490802	Alfalfa Supremi	52	21.718	\$470.00	\$10,207.46
EMCU8797372	UL9161224	Alfalfa Supremi	52	22.199	\$470.00	\$10,433.53
FSCU7110760	A1490813	Alfalfa Supremi	52	20.321	\$470.00	\$9,550.87
GAOU6240859	A1490894	Alfalfa Supremi	52	21.700	\$470.00	\$10,199.00
GCXU5322342	A1490897	Alfalfa Supremi	52	21.519	\$470.00	\$10,113.93
TCNU2141940	A1491000	Alfalfa Supremi	52	21.509	\$470.00	\$10,109.23
TEMU6119287	A1490972	Alfalfa Supremi	52	20.929	\$470.00	\$9,836.63
TGBU6906997	A1490807	Alfalfa Supremi	52	20.693	\$470.00	\$9,725.71
TGBU7123770	A1490971	Alfalfa Supremi	52	20.230	\$470.00	\$9,508.10
TLLU4852589	A1490810	Alfalfa Supremi	52	21.573	\$470.00	\$10,139.31
TRHU4562176	A1490893	Alfalfa Supremi	52	20.911	\$470.00	\$9,828.17
TRHU5295963	1490995	Alfalfa Supremi	52	21.636	\$470.00	\$10,168.92
TRHU8353908	A1490979	Alfalfa Supremi	52	21.464	\$470.00	\$10,088.08

TRHU8761941	A1490803	Alfalfa Supremi	52	21.509	\$470.00	\$10,109.23
		'	+			
TXGU6087562	A1490947	Alfalfa Supremi	52	21.410	\$470.00	\$10,062.70
Total Value: 1,456 596.702						
Prepaid Full:						\$280,449.94
Remaining Balance:						\$.00

Commodity	<b>Crude Protein</b>	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

**AUTHORIZED SIGNATURE** 

